

### **Travis County Commissioners Court Agenda Request**

Meeting Date: December 6, 2011

Prepared By/Phone Number: Loren Breland, 854-4854 Elected/Appointed Official/Dept. Head: Cyd Grimes

**Commissioners Court Sponsor:** Judge Biscoe

Agenda Language: Approve contract award for guardrail and bridgerail installation, removal and replacement, IFB No. B120020LD, to the low bidder, H and H Fence.

Ø Purchasing Recommendation and Comments: Purchasing concurs
with department and recommends approval of requested action. This
procurement action meets the compliance requirements as outlined by
the statutes.

This contract provides guardrail and bridgerail installation, removal and replacement for TNR.

On October 24, 2010 IFB #B120020LD was issued to 28 vendors. Two bids were received on November 14, 2011. TNR has reviewed the bids and recommends award to the lowest bidder, H and H Fence.

- Contract Expenditures: Within the last 12 months \$112,674.75 has been spent against this requirement.
- **O** Contract-Related Information:

Award Amount: Estimated quantity, as needed basis.

Contract Type: Term

Contract Period: December 21, 2011 - December 20, 2012

**∅** Solicitation-Related Information:

Solicitations Sent: 28 Responses Received: 2

HUB Information: % HUB Subcontractor:

Ø	Special Contract Considerations:
	<ul> <li>Award has been protested; interested parties have been notified.</li> <li>Award is not to the lowest bidder; interested parties have been notified.</li> </ul>
	☐ Comments:
Ø	Funding Information:
	☐ Purchase Requisition in H.T.E.:
	an as needed basis.



TRAVIS COUN.

2011 NOV 18 PM 3: 5.

PURCHASING
OFFICE

### TRANSPORTATION AND NATURAL RESOURCES STEVEN M. MANILLA, P.E., COUNTY EXECUTIVE

411 West 13th Street Executive Office Building, 11th Floor P. O. Box 1748 Austin, Texas 78767 (512) 854-9383 FAX (512) 854-4697

November 17, 2011

#### **MEMORANDUM**

TO:

Cyd Grimes, County Purchasing Agent Canel Grimes, County Executive

FROM:

**SUBJECT:** 

**Contract Award** 

Guardrail and Bridgerail Installation - Solicitation B120020LD

TNR recommends that the above referenced solicitation be awarded to the overall low bidder, H&H Fence Co.

The commodity/sub-commodity code for this contract is 988/073. The budget line item number is 099-4941-621-5010.

If you need additional information, please contact Christina Jensen at 854-7670.

CJ:SMM:ci Contract File

# Bid Tabulation Packet for Solicitation B120020-LD

## GUARDRAIL AND BRIDGERAIL INSTALLATION, REMOVAL AND REPLACEMENT



**Travis County** 

**Travis County** 

### Bid #B120020-LD - GUARDRAIL AND BRIDGERAIL INSTALLATION, **REMOVAL AND REPLACEMENT**

Creation Date Oct 5, 2011

End Date

Nov 14, 2011 2:00:00 PM CST

Start Date

Oct 24, 2011 9:13:42 AM CDT

Awarded Date Not Yet Awarded

B120020-LD01-01 1 - MI	ETAL BEAM GUARD FENCE, TIM	IBER POSTS, EAST OF	IH-35, NEW		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$20.98	1500 / linear foot	\$31,470.00		Y
		Supplier Product Code: Supplier Notes:			
ISI Contracting, Inc.	First Offer - \$24.00	1500 / iinear foot	\$36,000.00	***	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	ie:		

B120020-LD01-02 2 - METAL BEAM GUARD FENCE, TIMBER POSTS, WEST OF IH-35, NEW							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
H&H Fence Co.	First Offer - \$20.98	2000 / linear foot	\$41,960.00	T., 1, 11	:.; <b>Y</b>		
		Supplier Product Code: Supplier Notes:			MEN, LE,		
ISI Contracting, Inc.	First Offer - \$29.00	2000 / linear foot	\$58,000.00		Υ.		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:	LV B			

B120020-LD01-03 3 - CU	RVED METAL BEAM GUARD FE	NCE, TIMBER POSTS	, EAST OF IH-35	NEW	L CITAL
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$32.00	15 / linear foot	\$480.00		:". <b>Y</b>
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$38.00	15 / linear foot	\$570.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

B120020-LD01-04 4 - CU	RVED METAL BEAM GUARD FE	NCE, TIMBER POSTS	, WEST OF IH-35	, NEW	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$34.00	15 / linear foot	\$510.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$43.00	15 / linear foot	\$645.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

B120020-LD01-05 5 - METAL BEAM GUARD FENCE, METAL POSTS, EAST OF IH-35, NEW							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
H&H Fence Co.	First Offer - \$23.98	50 / linear foot	\$1,199.00		Y		
Product Code:		Supplier Product Code: Supplier Notes:					
ISI Contracting, Inc.	First Offer - \$40.00	50 / linear foot	\$2,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

B120020-LD01-06 6 - METAL BEA	M GUARD FENCE, MET	TAL POSTS, WEST O	F IH-35, NEW		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$26.98	15 / linear foot	\$404.70		Y
Product Code:		Supplier Product Code:			

Agency Notes:		Supplier Notes:		
ISI Contracting, Inc.	First Offer - \$45.00	15 / linear foot	\$675.00	Y
		Supplier Product Code: Supplier Notes:		

B120020-LD01-07 7 - CURVED METAL BEAM GUARD FENCE, METAL POSTS, EAST OF IH-35, NEW							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
H&H Fence Co.	First Offer - \$35.98	15 / linear foot	\$539.70		Y		
Product Code:		Supplier Product Code: Supplier Notes:					
ISI Contracting, Inc.	First Offer - \$48.00	15 / linear foot	\$720.00		: Y :		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

B120020-LD01-08 8 - CU	RVED METAL BEAM GUARD FE	NCE, METAL POSTS,	WEST OF IH-35,	NEW	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$37.98	15 / linear foot	\$569.70		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ISI Contracting, Inc.	First Offer - \$48.00	15 / linear foot	\$720.00		: Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

B120020-LD01-09 9 - MI	TAL BEAM GUARD FENCE TRANS	SITION, EAST OF	IH-35, NEW		1000
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$650.00	5 / each	\$3,250.00		Y
Product Code:		Supplier Product Code: Supplier Notes:			
ISI Contracting, Inc.	First Offer - \$2,000.00	5 / each	\$10,000.00		Y
		Supplier Product Code: Supplier Notes:			

B120020-LD01-10 10 - N	IETAL BEAM GUARD FENCE TRAN	ISITION, WEST	F IH-35, NEW	L	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$790.00	5 / each	\$3,950.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$2,300.00	5 / each	\$11,500.00		Y
		Supplier Product Code: Supplier Notes:			15 (5 (1) 16 (1)

B120020-LD01-11 11 - TE	RMINAL ANCHOR SECTION, T	IMBER POSTS, EA	ST OF IH-35, NEW	110-507-50		
Suppiler	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$450.00	10 / each	\$4,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$748.00	10 / each	\$7,480.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$450.00	10 / each	\$4,500.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$748.00	10 / each	\$7,480.00		Y	

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

B120020-LD01-13 13 - S	ingle guardrail terminal, 1	YPE I, EAST OF I	H-35, NEW		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ISI Contracting, Inc.	First Offer - \$1,900.00	10 / each	\$19,000.00		Y
Product Code:		Supplier Product Code: Supplier Notes:			
H&H Fence Co.	First Offer - \$1,948.00	10 / each	\$19,480.00	Alle	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

B120020-LD01-14 14 - S	INGLE GUARDRAIL TERMINAL, 1	YPE I, WEST OF	IH-35, NEW			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
H&H Fence Co.	First Offer - \$1,948.00	10 / each	\$19,480.00		Y	
		Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$2,100.00	10 / each	\$21,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-15 15 - TRAFFIC RAIL TYPE T101, NEW							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
H&H Fence Co.	First Offer - \$75.00	50 / linear foot	\$3,750.00		: · .Y		
Product Code:		Supplier Product Code: Supplier Notes:					
ISI Contracting, Inc.	First Offer - \$80.00	50 / linear foot	\$4,000.00		::: <b>Y</b>		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

B120020-LD01-16 16 - LO	W-FILL CULVERT POST OR TR	AFFIC RAIL POST	r, NEW	44.1		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$150.00	2 / each	\$300.00	oral III	Y	
Product Code:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$249.00	2 / each	\$498.00		<b>Y</b>	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-17 17 - 0	ORING OF CONCRETE	MANN THE RESERVE TO T			4/m - 0=00	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
H&H Fence Co.	First Offer - \$100.00	10 / each	\$1,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-18 18 - RI	MOVING RAIL ELEMENTS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ISI Contracting, Inc.	First Offer - \$2.00	150 / linear foot	\$300.00		Y
Product Code:		Supplier Product Code: Supplier Notes:			
H&H Fence Co.	First Offer - \$11.98	150 / linear foot	\$1,797.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

B120020-LD01-19 19 - R	EMOVING POSTS (SOIL/RIPR	AP)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$8.00	20 / each	\$160.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$10.00	20 / each	\$200.00		Y	
		Supplier Product Code: Supplier Notes:				

B120020-LD01-20 20 - R	EMOVING POSTS (CONCRETE)			TIME	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$12.00	10 / each	\$120.00	1 1 22	Y
		Supplier Product Code: Supplier Notes:			
ISI Contracting, Inc.	First Offer - \$15.00	10 / each	\$150.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

B120020-LD01-21 21A - F	REMOVING TERMINAL ANCHO	R SECTIONS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$100.00	8 / each	\$800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$310.00	8 / each	\$2,480.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-22 22A - IN	STALL RAIL ELEMENT, MAT	ERIALS ONLY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$7.00	150 / linear foot	\$1,050.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$11.98	150 / linear foot	\$1,797.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

B120020-LD01-23 22B - INSTALL RAIL ELEMENT, LABOR ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ISI Contracting, Inc.	First Offer - \$7.00	150 / linear foot	\$1,050.00		Y		
Product Code:		Supplier Product Code: Supplier Notes:					
H&H Fence Co.	First Offer - \$10.98	150 / linear foot	\$1,647.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				

B120020-LD01-24 23A - INSTALL TRAFFIC RAIL (T101) ELEMENT, MATERIALS ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
H&H Fence Co.	First Offer - \$35.00	150 / linear foot	\$5,250.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
ISI Contracting, Inc.	First Offer - \$75.00	150 / linear foot	\$11,250.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				

B120020-LD01-25 23B - INSTALL TRAFFIC RAIL (T101) ELEMENT, LABOR ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

		Supplier Product Code: Supplier Notes:		
ISI Contracting, Inc.	First Offer - \$18.00	150 / linear foot	\$2,700.00	Y
Product Code: Agency Notes:		Supplier Product Coe Supplier Notes:	de:	
H&H Fence Co.	First Offer - \$15.00	150 / linear foot	\$2,250.00	Y

B120020-LD01-26 24A - INSTALL TIMBER POSTS, EAST OF IH-35, MATERIALS ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ISI Contracting, Inc.	First Offer - \$22.00	10 / each	\$220.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
H&H Fence Co.	First Offer - \$23.98	10 / each	\$239.80		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	III. Xi			

B120020-LD01-27 24B - INSTALL TIMBER POSTS, EAST OF IH-35, LABOR ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ISI Contracting, Inc.	First Offer - \$12.00	10 / each	\$120.00	:	<b>Y</b>		
Product Code: Agency Notes:	oduct Code:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$20.00	10 / each	\$200.00		Y		
Product Code: Agency Notes:		Suppiler Product Suppiler Notes:	Code:		TV		

B120020-LD01-28 25A - INSTALL TIMBER POSTS, WEST OF IH-35, MATERIALS ONLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ISI Contracting, Inc.	First Offer - \$22.00	10 / each	\$220.00		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	-				
H&H Fence Co.	First Offer - \$23.98	10 / each	\$239.80		' :: Y :			
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		no i			

B120020-LD01-29 25B - INSTALL TIMBER POSTS, WEST OF IH-35, LABOR ONLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ISI Contracting, Inc.	First Offer - \$15.00	10 / each	\$150.00	1	Y			
		Supplier Product Code: Supplier Notes:						
H&H Fence Co.	First Offer - \$20.00	10 / each	\$200.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

B120020-LD01-30 26A - 1	INSTALL LOW-FILL CULVERT P	OST OR TRAFFIC	RAIL POST, MATER	IALS ON	ILY
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ISI Contracting, Inc.	First Offer - \$100.00	2 / each	\$200.00		Y
Product Code:		Supplier Product Code: Supplier Notes:			
H&H Fence Co.	First Offer - \$120.00	2 / each	\$240.00	117, 11	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	: Code:		

B120020-LD01-31 26B - IN	STALL LOW-FILL CULVERT P	OST OR TRAFFIC	RAIL POST, LABOR	ONLY	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ISI Contracting, Inc.	First Offer - \$50.00	2 / each	\$100.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	14	J
		S			

**Travis County** 

H&H Fence Co.	First Offer - \$120.00	2 / each	\$240.00	Y
Product Code:		<b>Supplier Product</b>	upplier Product Code:	
Agency Notes:	The second of the second of the second	Supplier Notes:		

B120020-LD01-32 27A - INSTALL TRANSITION RAIL, MATERIALS ONLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ISI Contracting, Inc.	First Offer - \$65.00	5 / linear foot	\$325.00		Y			
Product Code:		Supplier Product Code: Supplier Notes:						
H&H Fence Co.	First Offer - \$75.00	5 / linear foot	\$375.00		Y			
Product Code:		Supplier Product Code: Supplier Notes:						

B120020-LD01-33 27B - INSTALL TRANSITION RAIL , LABOR ONLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
H&H Fence Co.	First Offer - \$40.00	5 / linear foot	\$200.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
ISI Contracting, Inc.	First Offer - \$48.00	5 / linear foot	\$240.00		Y :			
Product Code:		Supplier Product Code: Supplier Notes:						

B120020-LD01-34 28A - IN	STALL TERMINAL CONNECT	OR, MATERIALS O	NLY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ISI Contracting, Inc.	First Offer - \$75.00	5 / each	\$375.00		Y		
Product Code: Agency Notes:	oduct Code:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$100.00	5 / each	\$500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

B120020-LD01-35 28B - INSTALL	TERMINAL CONNECT	OR, LABOR ONLY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$50.00	5 / each	\$250.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$110.00	5 / each	\$550.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-36 29A - IN	STALL TIMBER SPACER BLO	OCK, MATERIALS	ONLY			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$10.00	25 / each	\$250.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
H&H Fence Co.	First Offer - \$11.98	25 / each	\$299.50		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-37 29B - I	NSTALL TIMBER SPACER BLO	CK, LABOR ONLY			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ISI Contracting, Inc.	First Offer - \$7.00	25 / each	\$175.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		i.
H&H Fence Co.	First Offer - \$10.00	25 / each	\$250.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

B120020-LD01-38 30A - 1	INSTALL STEEL SPACER BLOC	K, MATERIALS ON	ILY			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
H&H Fence Co.	First Offer - \$15.00	10 / each	\$150.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$25.00	10 / each	\$250.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-39 30B - I	NSTALL STEEL SPACER BLOC	K, LABOR ONLY	5		ankt	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$7.00	10 / each	\$70.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$10.00	10 / each	\$100.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				

B120020-LD01-40 31A -	REPAIR SINGLE GUARDRAIL TEI	RMINAL, MATERI	ALS ONLY	VIII.		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ISI Contracting, Inc.	First Offer - \$1,100.00	5 / each	\$5,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
H&H Fence Co.	First Offer - \$1,598.00	5 / each	\$7,990.00		Y	
		Supplier Product Code: Supplier Notes:				

B120020-LD01-41 31B - REPAIR SINGLE GUARDRAIL TERMINAL, LABOR ONLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
H&H Fence Co.	First Offer - \$500.00	5 / each	\$2,500.00		Y			
Product Code: Agency Notes:	Product Code:		Supplier Product Code: Supplier Notes:					
ISI Contracting, Inc.	First Offer - \$750.00	5 / each	\$3,750.00		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:					

B120020-LD01-42 32A - REPAIR ENERGY ABSORPTION SYSTEMS CRASH CUSHIONS, MATERIALS ONLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
H&H Fence Co.	First Offer - 20.00%	1 / each	20.00%		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
ISI Contracting, Inc.	First Offer - 15.00%	1 / each	15.00%		Y.		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	: Code:				

B120020-LD01-43 32B - I	REPAIR ENERGY ABSORPTION	SYSTEMS CRASH	CUSHIONS, LABOR	ONLY	W-12-11	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
H&H Fence Co.	First Offer - \$21.00	10 / hour	\$210.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$250.00	10 / hour	\$2,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

B120020-LD01-44	21B - REMOVE SINGLE GUARDRAIL TERMINAL				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
H&H Fence Co.	First Offer - \$300.00	2 / each	\$600.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
ISI Contracting, Inc.	First Offer - \$500.00	2 / each	\$1,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				

**Supplier Totals** 

H&H Fence Co. \$174,126.20 (44/44 items)

Bid Contact Randy Hamilton Address PO Box 92802

Contact Randy Hamilton Address PO Box 92802
rhamilton2@austin.rr.com Austin, TX 78709

Ph 512-280-0705

Qualifications SB
Agency Notes: Supplier Notes:

ISI Contracting, Inc. \$222,285.00 (44/44 items)

Bid Contact Mark Browne Address 711 Rankin rd

mbrowne@Infrastructure-inc.com Houston, TX 77073
Ph 281-233-8030

Ph 281-233-8030
Qualifications CISV HUB TX

Agency Notes: Supplier Notes:

11/21/11
10:39:51
2011
.6%
. 4
F24=More keys